Pre-Calculus







Name: _____________________

Review
_____1.
Find the terminal point P(x, y) on the unit circle determined by an angle of 
[image: image50.emf]-2p -p p 2p

-2

-1

1

2

x

y

.

_____2.
What is the reference angle for 
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_____3.
Which of the following angles is coterminal with -250(?



a)  -70(

b)  -610(

c)  290(

d)  70(
_____4.
An angle of 10.2 radians is located in which quadrant on a unit circle?

_____5.
Which of the following below describes all possible values of 
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 for which 
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a)  
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b)  
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d)  
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_____6.
Which of the following below describes all possible values of 
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 for which 
[image: image10.wmf]q

sec

 is undefined?  


a)  
[image: image11.wmf]n

qp

=



b)  
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d)  
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_____7.
The 
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cot

 is positive for which of the following angles?


a)  230(

b)  -200(

c)  135(

d)  -60(
_____8.
Which of the following below completes the statement  sin 70(     ?     sin 50(?


a)  
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b)   
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c)   >


d)   < 

_____9.
Which of the following below completes the statement  sec 50(     ?     sec 70(?


a)  
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b)   
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c)   >
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_____10.
State the amplitude, the maximum and minimum values, and the period of 
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_____11.
The graph of 
[image: image21.wmf]y=sinx

  is the same as the graph of  
[image: image22.wmf]y=cosx

 shifted to the right



by  ________  units.
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    12. Graph: 
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y = 2 sin 3x










y=2sin3x


Amplitude:

Period:

Phase Shift:


Vertical Shift:

Reflection(s):
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13. Graph: 
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Amplitude:

Period:

Phase Shift:


Vertical Shift:

Reflection(s):
Match the following: 
14.  ____
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siny θ=










sin y q =



15.  ____
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cosy θ=










cos y q =



16.   ____
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tany θ=










tan y q =


17. ____
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cscy θ=










csc y q =




18.  ____
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secy θ=










sec y q =



19.  ____
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coty θ=










cot y q =
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C.  
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D.  




E




F.

Give the exact value of each expression in simplest radical form. 
20.
sin 
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 =   

______


21.
csc 135( =   

______

22.
cot (
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 ______


23.
sec 
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______ 

24.
tan(450°)   = 
 ______


25.
cos (
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) = 
______

26.
sec (-225°) =
 ______


27. 
csc 0 = 

______
28. Find sin
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and tan 
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 if cos
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29. Find the angle that satisfies the following conditions: 
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Round all answers to the nearest hundredth for angle measures in degrees.  
 
30.
Convert 252( to radians.



31.
Convert -972( to radians.

32.
Convert 4.5 radians to degrees.


33.
Convert 
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 to degrees.

34.  
A ship is just offshore of New York City.  A sighting is taken of the Statue of Liberty, which is about 305 feet tall.  If the angle of elevation to the top of the statue is
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, how far is the ship from the base of the statue?

35.
The point P is on the terminal side of angle
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. Evaluate the six trigonometric functions for .


P (5, -2) 
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